Jubgtdbootdbootdbbotgubd

goooob bobooooon
godogd

20080 110

1 0dood

2000 e 000oOoOo0obOobO0oobooboobobooboooobobOobn
goobobbobbobooooooobbbbbboooooobobbouago
gboobobooboobbuooboobbooboobbooboobbon
obobooboobooboboobooboobobOobOobOobOo 20070 7010000
gogoobboobbooooooboobobbboooooooobobobboooa
gogobobbbbbboodgobuouooooooobobbbobboago
gogbbboodoooobbbooooboboooobobbooon
gogobobbobbobodoooooobbbbbbuoooooobbbobobooo
gbobobooobooboobboboboobooboobooboobbobo
gogobbbobbbouoooogobbobbbouooooobbobboogd
goooobbooobobbbobobbbbodooooooobobbbooood
goggobbbobbbbtbdgooouoooooooobbobbboougo
gogobobobobbooooooobobbbodoooooobobobboogd
goooo
gogoobbobbbodooooobobobobboooooobobobboogad
gogobbbobbbouooooobobbbbbouoooooobbobbobouogo
gobbbuoooobbooooooboooobbooooobobooaon
gobooobooooobo20000bb0oobbo0oboo0ooooobooOoDg 30
O001l10000000bO0obO0bO0obD 400002000000 0ODODOOO
gooooosboooboobooooboboboobooooogoo



6000 | __

#4000

i
|

fEE §
|
|
|
|
|

2000

0 T T T T T T
2001.f 2002.f 2003.f 2004.f 2005.f 2006.f 2007.f 2008.f
HAT: BET—2/\00%BEIERL

O1ooooboog

2 00
21 DO00O0OOOO0OODOO

gogobbbbbbodooooobbbbbbooooooobbbboboodao
goooOooOodoooooooboOoooDooo [7jooboobooooogooooo
ggobbbbooooooobbbbbbboooooooobbobbbbdadao
gbbodgbboobbbbuoooooobobboobooobbooooboo
gboooboobbooboobbooobooboobbobbuoobobon
gogoobbobobbboooooobbbbooooooobbboboboougo
gbooobobooboobbobbuooboboooboobbooboobbon
gogbbobuoooobbbooooobbbooooboboboooon

22 000OO

Oo00o0ooboooooooooooooboobooooooMerton(1974p00
(000)0000COO0OMerton(1974 00000000 0DOO0ODOOODOOODO
ggobobbbbbodoooobobbbboodoooooobbobbodado
O0000O0OO000oooOoooooD (200000Mertond 0 000OO0OOOOO
ggobbbbbbodooooooobbbuooooooobbobobbbodgo



O0000bO0o0o0oDbo0oOooDbo0oOobooOboOU Black-Scholesl OO OO

gbogoboobuodboudgbogbbobbooboobooboboonobo

gobooboooooboooboooobooboobboooonon Boness1 OO

000000000000 00D000b0000DOOO0O (2000)0 O Black-Scholes
Oo0odbOBoness ] DUODOOOOODLOOOOOOOODOOOOODLOOOOODLO

0000000000 (2000)00Boness] 000000 O0OODOOOODDOOO

goboobooooboboogoobobo0obooboobb Boness1doonod

gboooboobobboboobooboobuoobuoobBoness 0O ond

OO0OBlack-Scholes] DO OO OOO0DOO0OODOOOODOOOOOOODOOOO

goooodg

23 DO0O0OOOOO

obobobobooobooilobobooobooboooboboobobooboo
ggboboboogoog

e JOO0OUOOOOODODO

e JOUOODLODDOOOODO

e JOUUOUODLODLDOOOODLDOOO
e JOUUOOODLDODOOOOO

gbboobuogbobobobooboooobboobuooboboboobooba
ggbbobooogbbboooobbbooogbon

O1o0oogo

T [000O

t |000000<t<T
A 0000

B |0OOO

E |0D0O0000

r |0O000O000O000
o (0000000

W |00000O000
NO) | 00000000000
In |0O0O0




24 ODO00O0O0ODOO

O00000oogooooco)oooono (001)00d0D0DO0ODDODBlack-
Schole1 DO0ODOOOOOOODOOODOOO

00o0o00oo0o0oOooooooo Quoooooad
Er = max(Q Ar — Br) (1)

gogobobobobboooooooobobobboooooooobobobboood
OO000000O0b0OO0O0OboOOodBlack-Scholes1 DO 0OODOOO 3)UOOO
ggn

Eo = AN(d)-Bre " N(d - caVT) 2)
g IN(Ao/Br) + (r + 03/2)T
O'A‘/T

00000000 @) 000000000000000000
dA = rAdt + oA AdW (3)
(3)0DOOTODOODOD A DODOODOOD@OO0DODONOOn
Ar = Agexpl(r — o2/2) + oadWr) (4)
(0000000000000 G) 0000000000
INAr = INAy+ (r — 0a/2)T + oaWr (5)

(5)00000000000000000 INA+(r-02/2TO00 ocaWs OO
O0000ooo0ooooooooooooooo@oo)yboooooTOOO
0000 (Expected Default Probabiliiyd O EDP)OD O (6) 000D OOOOOOO

EDP = Pr(Ar < By)
IN(Ao/Br) + (r — 03/2)T

O'A‘/T

= 1-N

(6)



241 00O0OO0OOOO

OobO0ob0oEeEDPOOODOODOO40000000TOBDALDOAODODOODO
gobogbooboobooboo TOobboobboobobobboobooboo
0l0000000boob egbboboobobooooobboobobobonDO Ay
Oo@oUUAbOOD0ODOOoOoOOoOoboboOooD

_ Eop + BTe"T N(d —OA \/-T)

Ao N@) (7)

0000000000000 00000DO0ODO0OOeeg00 ®UuOoODOO
O000ooooooooog [7o

Eo
TE AN ®)

op=

gbbbooobogbobuogobobooobbbooboobobbodo
gbogoobooboobooboobbooboboooboobbuooboboon
ggbobobuooooboboooon

oo = Jﬁ;w—mx@so ©)

1y
NZH;M

(OO @Loooooooboo0oooAdDca0ODODOOoDOoOoooooono
000 @D0O @Uobo0oo0onoooooniA D cA000000D0O00
OO0 (U0 @Uuobooooooooobbotd A0 oa0 0000 AD oa
gboobooobobooboboobobboooboboboobobgosbenod
gooobooooboboboooooooogosoboboooooboon



3 0O0O1

31 ODDOOoon

OO000O00EDPOODOODODOOODOOODOOOECRIODODOODOOODOO
gboboobooboboboCcrRUbDopooboooooobooboobouoboobon
goboobooboooboobooooooboobooo 3bobooboobooogoo
goboooboooob20000b00ob0boobobooboobooobboOon
ooooboobooboboooooboobobobobooogooOoJcrRogboonO
gboooboboooboobooooboobob2008000boboooboon
gooooooobobooooooooob 3b04b0bobboooooooDo

Oo0oobooboooobOonb 20080 90 10oooooooobDOonD 1o
gogobobooggooo
gobooobooooboooboobooooooboooboostbooboooooDo
gobbobooood

022000000

JCROO ||AAA |[AA [A [BBB |BB|B]|cCcccon
alalals 5 5 5| 4 | 3|2 1
03000000 @O00)
0oQ |00 |
oooood oooo
ooooo 0ooo
00 0ooo
ooooog 0ooo
00000000000000 |0000
ooooo 0ooo
ooooo 0ooo
0ooo 0ooo
04000000 @O000)
000 00 [EEEEE EiEE
o0ooo0 0000 |000000000 | 20080 70 180
000000000000 (0000 |000000000 | 20080 80 130




3.2 0DOO0O

gsbo00bgoboobooon

gsgbbobooooboooooooboobooboboobooboobouoboobouonog
gooooJcrRUbDobOobOoooooobooboboooooooooDboDO
gbogbooobuogbogbogbooboobboboobbobboba
gbobobobobooobooosgoooooobooboboobooboooooboon
gbobogobooobbogubobodgbbobobuooboobabobooboo
gogbbbbboouooooobbbbboooooobobbobobbougao
gogoobbobobboboubobbotbuooooooobbobbboodgd
gogbbbooobbbuooobobboood

05 0000@O000)

gogd EDP | OO ao
(JCR)| (EDP)
googod 1.407 5 2
gogooo 3.560 5 2
g 13.126| 4 2
gboogod 0.490 5 3
O00oOooooooooognD | 44357 4 1
gogooo 0.977 5 3
goooo 1.435 5 2
gogno 0.535 5 3

0200 300000b000b0oooooooooboobobooooboobogoD
goooog

02030000000000 20070 90UDOO0 EDPODODODOJCROODO
gobooboooboooboobooboooboo EeEbPODODbOICRODDOODO
gboooboobuoobuoebPObO0ObDOODOODOODOODOODOO
gboobobobooboooooboobobobobooooooboboOobOoDbEDP
o0000obO0o0OO000obOO0obOJCROODDODODODOODODODOODOOO
gboboobooboz2000b0JCcrROODbObDOODOoOOoOobOOobOobDOoDooOon
gogoobobboooobbbbboboddoggooobooobbbooog
gobuogdbboogbbbuooobboobobobuoobbooobbbood
gogobobbbbouodgoooobbbobboooooobbobboouogd
gboboobobobobobobobobnJcrUbDoboooooooooon
gogbobobuooogbobuoooobobobooogoon



—— JCR
o —— EDP
1
3
5
{-

Aug Sep Oct Nov Dec Jan Feb Mar Apr May Jun Jul

2007 - 2008
020000
—— JCR
5 —— EDP
4
3
5
1

Oct Nov Dec Jan Feb Mar Apr May Jun Jul Aug
2007 — 2008
O03:000000000000



3.3 EDPODOO0O

00 1000000EDPOOOOOOOOOOOOOODONOOOONOOOOO
000000000000000000000000000000000000
0000 (1998)0000000000000000000 p(0<p < 1)0 EDPO
000000000 (fobearance) 0 00000000000 00000000O0O
00000000000000000000000000000000000 [5]0
00 p00000000000000000EDPD (1000000000000

00 EDP = Pr(Ar < pBr)
In(Ao/pBr) + (1 - rff\/Z)T)

O'A\/T

= l—N( (10)

4 0002
41 0O0O2000

O02000EDPOODO EDPOOOLOOOOOOO0OO0EDPODOOOOOODO
gbooooooobobboobbbodoooooobobbbobboggo
OEDPOOOOOOOR&ODDOODOOODOOOODOOODOODOODOODOO
OO000OCOO000O0O0O0 M4ooobodoooooboooooobooOo4000
gogno

e JO0D100ODOODOODOOS0000OOMO

Oo0200000000 10000000 50000000

o003 00o0oooboOoi1co0noon 100000 0m

e JOD400000OODOOI000DOODO

OOODOEDPOODO EDPOOODOOCOODOOODOOEIOOODOOODOO
oooooo3000o0gon

e JOUUUDLODDUOOUODLDLDLOUOUODLDLDDOO
e J1000D00DODLOOOLOODOODODODOLOOODOODOO
e J200000DO0DO0ODODOODOODOUDODODLDOODOODOO

I e A A N O O s
O0D0O00b0o0Do0ooooosooooooooobooboboboi1po2000
goooosgoboobobobobooobooognog 20070 100 1000 2008
0100 100001000000000D0bD 100b00b0obobbooboog

9



42 0O0O0O0O
421 0DO0OO0O0ODOODOOOOO

gelbdbObOoObOObOObDObDObObDOn
ge0diiboboOo0obOobOobDobObbOOD pbOOobObLOOODODOO
googobpbooboobboobbbbodooooooobbbobbbooago
gobboooboboooobboooooboon

O6:EDPOR&I COODO0ODOODOOOOOOODOODOOpOOODOO

1.00 0.99 0.98 0.97 0.96 0.95
OO0 1 7629 7312 7027 6774 6558| 6380
OO0 2| 34469 34121| 33813| 33549| 33335 33173
000 3| 209983 205090| 201169| 199350| 197281| 196070
OO0 4| 96211 94286 93147 93555| 95662| 100763

0.94 0.93 0.92 0.91 0.90 Prmin
o001 6245, 6156 6116| 6130, 6201 0.92
OO0 2| 33069 33029| 33056 33158| 33341 0.93
000 3| 198136 203504| 208296| 216732| 232966 0.95
OO0 4| 104473| 108828 113794| 122662| 136663 0.98

422 00O0ODOOOO

400 5000000000000 0o0boboobobobuobooobog
gbooboobobbobooobouo EeEbDPIODOOOO EDPOODOOODOO

0400 500000 EDPUO EDPOOODODOOUODOODDODODOODOO
gogbobbobbboodooooooooobbbobbbbobbbooago
goboboboooobbooo

geld700b00d0dbOb0obOobDOoO0bDOo0obOoboobe0b yObOooDbO
gbobdEeDPO EDPOLOOOOOOOOOOOODODOOOOOOOOOO
gogoobbbobioooooooobobbbooooooobobobobobooogd
ggooobod

10



Expected Default Probability(%)

Expected Default Probability (%)

25

20

1.5

1.0

05

0.0

=ZE M

0 50 100 150 200 250
Time
040000
RETEE
T T T T T T
0 50 100 150 200 250
Time

05 00ogn




Expected Default Probability (%)

Expected Default Probability (%)

50

40

30

20

10

40

30

20

10

F—N\ra—rRLAia

0 50 100 150 200 250
Time
Oe6.000000000000
BlEA—LX
0 50 100 150 200 250
Time

O7:0gbgoon

12




423 00O0O0OOOOOOOO

ooboobooooobooyywos8sbboogd o 8buobod eEDPO EDP
oobobl10oooooooboooobo20000ooooboooooDOooDO
gboooobobgobobgobobobobobobbobobobobobn
gboboodboobobuoobobobboobobob ebPOObObODOO
gbobobobobooooob EDPOULDODODODODODOODOODODODOO

O7:EDPOODODOOCOOOOO

oooo ooo 010 020

od oooo oooo
1%0 0 10.24% (960379) 17.95% 58.92%
2%0 0 10.42% (8137802) 30.51% 48.91%
3%00 0 11.26% (773880) 33.76% 42.73%
4%00 12.28% (7486074) 36.24% 37.29%
5000 12.94% (704441) 39.83% 33.15%
10%0 0 14.30% (4483112) 61.97% 18.66%
200 0 16.79% (2331.388) 80.09% 8.08%
30040 0 21.97% (147669) 87.44% 3.65%

40900 18.32% (70382) 94.02%  2.18%
50%00 18.36% (3%07) 96.75%  1.18%
60%00 11.46% (1196) 99.06%  0.59%
70%00 11.49% (1087) 99.15%  0.54%
80%1 0 11.49% (1087) 99.15%  0.54%
90%00 11.63% (1086) 99.15%  0.53%

O800EDPODODOOOOOODO

0000 000 010 O 20
00 0Ooo0O0 0000
1%00 11.24% (8217307) 29.83%  45.39%
20000 12.72% (72%700) 38.03%  34.82%
3%00 13.29% (61M651) 47.18%  28.22%
4%00 13.32% (5183890) 55.73%  23.60%
5%00 13.72% (4483230) 62.14%  19.50%
109010 15.46% (2671727) 77.18%  10.22%
2000 18.10% (137757)  88.29%  4.34%

30%0 0 14.00% (49850) 95.81%  2.11%
40900 12.92% (23L78) 98.03%  1.08%
50%0 0 11.43% (12105) 98.97%  0.65%
60%00 12.50% (1188) 99.06%  0.54%
70%00 11.49% (1087) 99.15%  0.54%
80%1 0 11.49% (1087) 99.15%  0.54%
90%10 11.63% (1086) 99.15%  0.53%

13



S JOooooooon

goobooooooboil1boEebPOJCROOOOOOOOOOOODOOOOOEDP
gooooooOoJcROODbOOoOOoOooooobOobDoboboooobDoDboDO
gooobooboboboooooboboboboob 2000010 0b000000
gboboobobooob ebPO0ODbOO0DOODODOODODOObDODOO
gbogoobooboobbooboobbooboobbobbuoobobon
googobobbobobobbbouoooooooboboboooobbobobbboodagd
gbooboobogod
goobobboboboboooooobbboobbouooooobobboobooo
gobooobogobooooboobbooobo4b000b00bbO0O0ODOn
gboobgobuoobuoobooboobobbobobobbobboEeDPO
gogoobboobobbooooooboboobbbooooooobobobobbboogod
ggbobobuoooobbobuooooboboogon

oooo00o stoooooooooooooboboobooboobooboboboD
gbobobbooboobooooboobostoooboobobobobboooooon
ooboooobooooooboogobobobboo s-PLUSOODODOODOOOOO
gogoobbobobbooooooobboobbbooooooobbobobboogoo
ggbobuogoobbbooobobbboodgbon

14



HRERERN
[1] Crosbie,P.J., Bohn,J.R. Modeling default risk , KMV working paper(2002).

[2] Merton,R.G* On the Pricing of Corporate Dept:The Risk Structure of Interest
Rates’ ,Journal of Finance, 29(2),p.449-470(1974).

Bl OOO,00000 O000DOO0O0DO0OD0OD0000O0O0DoDOoooOoooogd
OO0000O00O",000000000,Discussion Paper(2001).

[4 00000 O0D0D0OO0DOO0000000o0ooo0oDooooooooog
0000 " ,Working Paper(2000).

[5] 0000F O0000000000000000000000”,00000
0000,0000,p.127-165(1998).

[6) DDODODO, 00000 O0DODODOODOODOODOOOOO ", 000000d
00000 ,vol38,n0.4,p.76-90(2000).

[77 000000 O0OCOOO0OC 0300000000000000000C0
0000 ,000000000000,vol.38,n0.1,p.85-100(2000).

[8] 00000 O0OOJO000O,0000000000,00000000C0
0(0),0000,0(0)D00000000000000000000,00
00 (2008).

9] RA.O0OO0O,JMOOOOOO,ARDOODDOD (0),0000,0000 (@)
0SO000000000000000000000000000000,00
00 (2000).

[10] John M.Chamber§(), 0 000,0000,0000,000,0000 (0)0
00000000 0000000,0000 (2002)

15



Appendix0 SO0 DO0OOOO0O

#000000

sigma.e <- JUgoooo [ ,2] #0000 ooooooooan
B<-0OOOOOODO L ,3] #000000000
E<-0OOoooooofr ,4] #000ogn

r <- 0.0065 #0000 0goooog

t <-1 #0000

dp <- 0.08 #0000 0doobooog

rho <- ¢(1,0.93) #00000000000

itr <- 50 #0400

#00O00000O00O00O

EDP = matrix(nrow=length(sigma.e) ,ncol=length(rho))
d = matrix(nrow=length(sigma.e),ncol=length(rho))
est = matrix(nrow=length(sigma.e) ,ncol=length(rho))

#0 000000
A = vector(mode="double",length=itr)
sigma.a = vector(mode="double",length=itr)

d.1 = vector(mode="double",length=itr)
d.2 = vector(mode="double",length=itr)
s.A = vector(mode="double",length=itr)

s.sigma.a = vector(mode="double",length=itr)

#1000
for(k in 1:length(rho)){
for(i in 1:length(sigma.e)){
A[1] <- E[i] + B[i]
sigma.a[l] <- sigma.e[i]*E[i]/(E[i]+B[i])
for(j in 1:itr){
d.1[j] <- (1og(A[j1/B[i]))+(r+sigma.a[j]l"2/2)*t)/
(sigma.a[j]l*sqrt(t))
sigma.a[j+1] <- sigma.e[i]*(E[i]/
(A[j1*pnorm(d.1[j]1,0,1)))
d.2[j] <- d.1[j]l-sigma.a[j]*sqrt(t)
Al[j+1] <- (E[i]+@B[iD)*exp(-r*t)*pnorm(d.2[j],0,1))/
pnorm(d.1[j]1,0,1)
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sigma.a[j] <- sigma.a[j+1]
A[j] <- A[j+1]
}
dli,k] <- (log(A[itr]/(rho[k]*B[i]))+
(r-sigma.a[itr]"2/2)*t)/(sigma.alitr]*sqrt(t))
#0 00000
EDP[i,k] <- (1-pnorm(d[i,k],®,1))*100
#0 0 0000000O0O0O0O0DODODO0O0O0O0OO
est[i,k] <- (log(EDP[i,k])-log(dp)) "2

#0000

tsplot(EDP[,1])

lines(EDP[,2],col=8)
title(main="0000000",x1ab="Time",
ylab="Expected Default Probability(%)")
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